MEFTRRERELIEHESHTER

s/ CHERA LONEA ZCHEA L CHBHA SCOHEf
i\\\ ’f?\\ ; /,’/B
‘ \\\ // LN ) o z
| \\\\ ./f] N \\\.\ T~
|| N A R e . A
TS BIERD | AC. R AD,
it ABIEBD L AC.E 2 AD,
TERIACBDYF, BD=asinC.CD=acosC,
RIAD = AC_CD—b . ZERCBDH, BD=asinC,
. MAD=AC - =b—acosC. _
/) i E TR o A 35 CD=acosC.
, : w;F' , v TERIABDAF, AB* = BD*+ AD*, H?,jﬁ%ﬂﬁ%{% MAD =CD—Cd =acosC—b
ot =a +b . o, R ¢ =a -b
Blc® =(asinC) +(b-acosC) . || ERiABDASE, 4B = BD + 4D,
£C=90° BEIE cosC | ne? :{asinC'): +[acosC—b):‘
¢t =a’sin® C+b* +a* cos’ C—2abcosC.
¢'=a'+b'-dabeosC.| | Blc? = & + 7 —2abcos . ) Blc* =a’ +5° —2abcosC. E#Ec’ =a + b —2abeos C
=g+ bt -2abcosC
% b. c®=a’+b?—2abcosC
1 [f#ir] % CD=x, B ZDAC=B=45° , ..AD=CD=x,
BD=AD-tan60°=\[3x, ..BC=(R[3—1)x=60, ..x=30([3+1), % C
} ‘ 1
2 [fgtr] : i AfEAELBC T E. o AB=AC, .. BE:EC:E BC=16
A
7t RtAABE #', AB=20, BE=16, ‘
2 2 2 2 2 1
.. AE°=AB°—-BE° =20°-16°=144, .. AE=12
B 5 : C

e RtAADE 1, % DE=X, Ml AD? = AE? + DE? =144+ X*

~AD L ACTA, .. AD*+AC*=CD? R[l144+x*+20° = (16+X)*, fifEfix=9
-.BD=BE-DE=16-9=7




